0.35 0.36 0.37 0.38

0.34

0.33 0.34 0.35 0.36 0.37

0.32

0.35 0.36 0.37 0.38

0.34

0.365 0.370

0.350 0.355 0.360

0.345

0.35 0.36 0.37 0.38

0.34

Chromosome 1 Global GC left arm

— R2= 0554 , o
p-value = 4.5e509

0 2 4 6 8
Position in Mb

Chromosome 2 Global GC left arm

R2= 0.19
p—-value = 0.2809210669

0.5 1.0 1.5
Position in Mb

Chromosome 3 Global GC left arm

2.0

0 2 4 6 8
Position in Mb

Chromosome 4 Global GC left arm

10

o

R2= 0.143
Pp-value = 0.4037233499

0.2 0.4 0.6 0.8 1.0 1.2 1.4
Position in Mb
Chromosome 5 Global GC left arm
R2= 0549 0
alue = 2.382e-07 °

0 2 4 6
Position in Mb

10

0.35 0.36 0.37 0.38 0.39

0.34

03 036 037 038 039 040

0.34

03 036 037 038 0.39

0.34

0.35 0.36 0.37 0.38

0.34

0.34 0.35 0.36 0.37 0.38

0.33

Chromosome 1 Global GC right arm

R2= 0.28
p—value = 0.0001834557
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Male Chr1

removing 30 % of total length VALUES Global GC

— +
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.006 + R2= 0.15
| p-value = 0.4698682314 p—-value = 0.0026598218
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Global GC
Male Chr2 removing 30 % of total length VALUES Global GC
B +
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.041 R2= 0.16

p-value = 0.1268121319

p—value = 0.0127780738

0.32 0.34 0.36 0.38 0.40
Global GC
Male Chr3 removing 30 % of total length VALUES Global GC
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.01 R2= 0.214

p-value = 0.4434704449

p-value = 0.0045217614
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Male Chr4 removing 30 % of total length VALUES Global GC
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.011 R2= 0.516

p-value = 0.522837494

p-value = 3.61931e-05
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Global GC
Male Chr5 removing 30 % of total length VALUES Global GC
_|_
— —— whole chromosome  ----- excluding telomeric fraction

R2= 0.037
p-value = 0.0816719599

R 2= 0.062
p-value = 0.0724236054
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Global GC
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Female Chr 1

removing 30 % of total length VALUES Global GC

4

R2= 0.316
p-value = 7.9e-09

whole chromosome

excluding telomeric fraction
R2= 0.169
p—-value = 0.0013339429

I I I I I
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Global GC
Female Chr2 removing 30 % of total length VALUES Global GC
_|_
—— whole chromosome  ----- excluding telomeric fraction
-~ R2=10.321 4+ R 2= 0.308
p-value = 3.4912¢—06 p-value = 0.0002976714
_|_
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Global GC
Female Chr3 removing 30 % of total length VALUES Global GC
- 4
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.35 R2= 0.234

| p-value = 2.105e-07

4

p-value = 0.0018115422
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Female Chr4 removing 30 % of total length VALUES Global GC

_| n +
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.234 R 2= 0.556
- p-value = 0.0013470015 p—-value = 1.21985e-05
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Global GC
Female Chr5 removing 30 % of total length VALUES Global GC
—— whole chromosome < e excluding telomeric fraction
R2= 0.249 <+ + R2= 0.129

p—-value = 1.609e-06

p-value = 0.0082105258
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Global GC

0.39
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Male Chr1

removing 50 % of total length VALUES Global GC

0.39

— +
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.006 + R2= 0.057
~| p-value = 0.4698682314 p—-value = 0.1471391285
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Male Chr2 removing 50 % of total length VALUES Global GC
B +
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.041 R2= 0.201

p-value = 0.1268121319

p-value = 0.0099680805
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Global GC
Male Chr3 removing 50 % of total length VALUES Global GC

R2= 0.01
p-value = 0.4434704449

whole chromosome

excluding telomeric fraction
R2= 0.119
p—-value = 0.1162169611
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Male Chr4 removing 50 % of total length VALUES Global GC
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.011 R2= 0.451

p-value = 0.522837494

p-value = 0.0008532479
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Male Chr5 removing 50 % of total length VALUES Global GC
_|_
— —— whole chromosome  ----- excluding telomeric fraction

R2= 0.037
p-value = 0.0816719599

R2= 0.007
p-value = 0.6367229031
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Female Chr 1

removing 50 % of total length VALUES Global GC

4

R2= 0.316
p-value = 7.9e-09

whole chromosome

excluding telomeric fraction
R 2= 0.088
p—-value = 0.0701006323
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Global GC
Female Chr2 removing 50 % of total length VALUES Global GC
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.321 4+ R2= 0.243
p-value = 3.4912¢—06 p-value = 0.0041725085
_|_
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Global GC
Female Chr3 removing 50 % of total length VALUES Global GC
<+
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.35 R2= 0.169

p-value = 2,105e-07

4

p—-value = 0.0413050596
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Global GC
Female Chr4 removing 50 % of total length VALUES Global GC

_|_
whole chromosom

R2= 0.234
p—value = 0.0013470015
4+

e e excluding telomeric fraction
R2= 0.386
p—-value = 0.0026415062
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Global GC
Female Chr5 removing 50 % of total length VALUES Global GC
¢+ +
—— whole chromosome + - excluding telomeric fraction
R2= 0.249 <+ + R2= 0.076

p—-value = 1.609e-06

p-value = 0.1086575742
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Global GC
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Male Chr1

removing 30 % of total length VALUES CpG

whole chromosome
R2= 0.196
p-value = 1.2418e-05

_|_
excluding telomeric fraction
RZ= 0.062

p-value = 0.0592344816

0.21

Male Chr 2

0.22
CpG

removing 30 % of total length VALUES CpG

0.23 0.24

whole chromosome
R 2= 0.095
p-value = 0.0186672918

excluding telomeric fraction
R2= 0.167
p—-value = 0.0107317197

<+
I I I I
0.21 0.22 0.23 0.24
CpG
Male Chr3 removing 30 % of total length VALUES CpG

whole chromosome
R 2= 0.083
p—-value = 0.0230850906

excluding telomeric fraction
R2= 0.109
p-value = 0.0487439244

0.20

Male Chr 4

CpG
removing 30 % of total length VALUES CpG

whole chromosome
R2= 0.187
p-value = 0.0048022205

excluding telomeric fraction
R 2= 0.045
p—-value = 0.2973834463

0.20 0.21 0.22 0.23 0.24
CpG
Male Chr5 removing 30 % of total length VALUES CpG
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.18 R 2= 0.057

p-value = 6.56342e-05

p-value = 0.0857798336
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Recombination rate (cM/Mb) Recombination rate (cM/Mb) Recombination rate (cM/Mb)
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Female Chr 1

removing 30 % of total length VALUES CpG

whole chromosome
R2= 0.119
p-value = 0.000880482

excluding telomeric fraction
R2= 0.233
p—-value = 0.0001239253
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CpG
Female Chr2 removing 30 % of total length VALUES CpG
_|_
—— whole chromosome  ----- excluding telomeric fraction

-+ R2= 0072
p-value = 0.0420907273

R2= 0.157
p-valtie = 0.0137325619

0.21 0.22 0.23 0.24
CpG
Female Chr3 removing 30 % of total length VALUES CpG
- <+
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.03 R 2= 0.043

—{ p-value = 0.1682327974

p-value = 0.2060140337

4

0.20

Female Chr 4

0.21 0.22

CpG
removing 30 % of total length VALUES CpG

whole chromosome
R2= 0.017
- p-value =0.412997184

excluding telomeric fraction
R2= 0.078
p—-value = 0.1684329448

0.20 0.21

Female Chr5

0.22 0.23 0.24
CpG

removing 30 % of total length VALUES CpG

whole€chromosome

| R2=0.025
p-value = 0.149478116
4

4 4
————— excluding telomeric fraction
4 + R2= 0.054

p-value = 0.093733472
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CpG
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Recombination rate (cM/Mb) Recombination rate (cM/Mb) Recombination rate (cM/Mb)
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Male Chr1

removing 50 % of total length VALUES CpG

whole chromosome
R2= 0.196
p-value = 1.2418e-05

_|_
excluding telomeric fraction
RZ= 0.125

p-value = 0.0294121618

0.21

Male Chr 2

0.22
CpG

removing 50 % of total length VALUES CpG

0.23 0.24

whole chromosome
R 2= 0.095
p-value = 0.0186672918

excluding telomeric fraction
R2= 0.157
p-value = 0.0248789878
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I I I I
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CpG
Male Chr3 removing 50 % of total length VALUES CpG

whole chromosome
R 2= 0.083
p—-value = 0.0230850906

excluding telomeric fraction
R 2= 0.038
p—-value = 0.3831264347

0.20

Male Chr 4

CpG
removing 50 % of total length VALUES CpG

whole chromosome
R2= 0.187
p-value = 0.0048022205

excluding telomeric fraction
R2= 0.021
p—-value = 0.5357135058

0.20 0.21 0.22 0.23 0.24
CpG
Male Chr5 removing 50 % of total length VALUES CpG
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.18 R 2= 0.058

p-value = 6.56342e-05

p-value = 0.1621768448
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Female Chr 1

removing 50 % of total length VALUES CpG

whole chromosome
R2= 0.119
p-value = 0.000880482

excluding telomeric fraction
R2= 0.294

p-value = 0.0004408591

I I I I I
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CpG
Female Chr2 removing 50 % of total length VALUES CpG
_|_
—— whole chromosome  ----- excluding telomeric fraction

-+ R2= 0072
p-value = 0.0420907273

R2= 0.18
p-vahte = 0.0155489519

0.21 0.22 0.23 0.24
CpG
Female Chr3 removing 50 % of total length VALUES CpG
- <+
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.03 R 2= 0.026

—{ p-value = 0.1682327974

p-value = 0.4424905287

4

0.20

Female Chr 4

0.21
CpG

removing 50 % of total length VALUES CpG

whole chromosome
R2= 0.017
—  p-value = 0.412997184

excluding telomeric fraction
R 2= 0.057
p—-value = 0.2968670882

0.20 0.21

Female Chr5

0.22 0.23 0.24
CpG

removing 50 % of total length VALUES CpG

whole-ehromosome

| R2=0.025
p-value = 0.149478116
<+

4 +
————— excluding telomeric fraction
4 4+ R2=0.033

p-value = 0.2989818762
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Male Chr1

removing 30 % of total length VALUES Gene density

— +

—— whole chromosome  ----- excluding telomeric fraction

R2= 0 R2= 0.0397
| p-value = 0.9263998727 p—-value = 0.1393265089
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Gene density
Male Chr2 removing 30 % of total length VALUES Gene density

B +

—— whole chromosome  ----- excluding telomeric fraction

R2=0 R2= 0.322

p-value = 0.9779769028

p-value = 0.0002037749
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Gene density
Male Chr3 removing 30 % of total length VALUES Gene density
_|_
—— whole chromosome  ----- excluding telomeric fraction
R 2= 0.001 R 2= 0.053
p-value = 0.8491870014 p—-value = 0.1764740309
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Male Chr4 removing 30 % of total length VALUES Gene density
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.105 R 2= 0.689

p-value = 0.0383275524

p-value = 1.573e-07
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Male Chr5 removing 30 % of total length VALUES Gene density
_|_
— —— whole chromosome  ----- excluding telomeric fraction
R 2= 0.007 R2= 0.1
p-value = 0.4556751876 p-value = 0.0212370032
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Female Chr1 removing 30 % of total length VALUES Gene density
<+
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.3 R2= 0.176

p-value = 2.28e-08

p-value = 0.0010624633
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removing 30 % of total length VALUES Gene density

I I I I

0.2 0.3 0.4 0.5

Gene density
Female Chr 2

_|_
—— whole chromosome
-4 R2=0.34 4+

4p-value = 1.529e-06

B +

excluding telomeric fraction
R2= 0.316
p-value = 0.0002417829
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Female Chr3 removing 30 % of total length VALUES Gene density
— <+
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.291 R2= 0.172

| p-value = 3.5219e-06

p-value = 0.008765165
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Female Chr4 removing 30 % of total length VALUES Gene density

_| n +
—— whole chromosome ----- excluding telomeric fraction
R2= 0.213 R2= 0.454

—{  p-value = 0.0023990924 p-value = 0.000160824
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Female Chr5 removing 30 % of total length VALUES Gene density
—— whole chromosome 4 - excluding telomeric fraction
| R2=0.209 + <+ R 2= 0.088
p—-value = 1.3719e-05 p-value = 0.0307255346
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Male Chr1 removing 50 % of total length VALUES Gene density

— +
—— whole chromosome  ----- excluding telomeric fraction
R2= 0 Rz= 0.027T
| p-value = 0.9263998727 p—-value = 0.3247660208
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Gene density

Male Chr2 removing 50 % of total length VALUES Gene density

—— whole chromosome
R2=0
p-value = 0.9779769028

excluding telomeric fraction
R 2= 0.365
p—-value = 0.0002504553
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Male Chr3 removing 50 % of total length VALUES Gene density
_|_
—— whole chromosome  ----- excluding telomeric fraction
R 2= 0.001 R2= 0.012
p-value = 0.8491870014 p-value = 0.6301061536
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Male Chr4 removing 50 % of total length VALUES Gene density
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.105 R2= 0.642
p-value = 0.0383275524 p-value = 1.26116e-05
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Male Chr5 removing 50 % of total length VALUES Gene density
_|_
—— whole chromosome  ----- excluding telomeric fraction
R 2= 0.007 R2= 0.073
p-value = 0.4556751876 p—-value = 0.1175472515
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Female Chr1 removing 50 % of total length VALUES Gene density
<+
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.3 R2= 0.148
p-value = 2.28e-08 p-value = 0.0172564492
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Female Chr2 removing 50 % of total length VALUES Gene density
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.34 4+ R2= 0.268
4p-value = 1.529e-06 p—-value = 0.002422727
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Female Chr3 removing 50 % of total length VALUES Gene density
<+
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.291 R2= 0.119

p-value = 3.5219e—-06 p—value = 0.0913544922
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Female Chr4 removing 50 % of total length VALUES Gene density
n +
—— whole chromosome ----- excluding telomeric fraction
R2= 0.213 R 2= 0.354
p-value = 0.0023990924 p-value = 0.0044362256
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Female Chr5 removing 50 % of total length VALUES Gene density
+ +
— whole chromosome + - excluding telomeric fraction
R 2= 0.209 + <+ R2= 0.05

p-value = 1,3719e-05 p—value = 0.1979686109
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Chromosome 1 TE density left arm

R2= 0.578
p-value = 1.4e-09

Position in Mb

Chromosome 2 TE density left arm

R2= 094
p-value = 7.03966e-05
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Position in Mb

Chromosome 3 TE density left arm

R2= 0.55
p-value = 2.25e-07

Position in Mb

Chromosome 4 TE density left arm

R2= 0.25
p—-value = 0.2530995311
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Position in Mb
Chromosome 5 TE density left arm
R2= 0.515

p-value = 8.502e-07
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p-value = 1.9e-09

(e]

0.5

(e]

0.4

16 18 20 22 24 26 28
Position in Mb
Chromosome 2 TE density right arm
(o)
d N o
R°2= 0.588
- p-value = 1e-10
= o
<
g

6 8 10 12 14 16
Position in Mb

Chromosome 3 TE density right arm

(e]

R2= 0.606
— p-value = 2.8133e-06

0.6

0.5

16 18 20
Position in Mb

Chromosome 4 TE density right arm

O | o
© R2= 0.583
p-value = 1.482e-07
Lo o
2
S
o

Position in Mb

Chromosome 5 TE density right arm

(e]

R2= 0.681
p-value =0

0.4

14 16 18 20 22
Position in Mb




Recombination rate (cM/Mb) Recombination rate (cM/Mb) Recombination rate (cM/Mb)
0.04

Recombination rate (cM/Mb)

Recombination rate (cM/Mb)

0.08 0.10 0.12 0.14

0.06

0.02

0.10 0.15 0.20 0.25 0.30

0.05

0.10 0.15 0.20

0.05

0.10 0.15 0.20

0.05

0.20

0.15

0.10

0.05

Male Chr1

removing 30 % of total length VALUES TE density

+

whole chromosome
R2=10.018

p-value = 0.2027857728
+  + +

excluding telomeric fraction
R 2= 0.002
p—-value = 0.7291036321

p-value = 09297853064
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TE density
Male Chr2 removing 30 % of total length VALUES TE density
B +
—— whole chromosome  ----- excluding telomeric fraction
R2=0 R2= 0.21

p-value = 0.0038037983

whole chromosome
R 2= 0.006
p-value = 0.5660849134
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Male Chr3 removing 30 % of total length VALUES TE density
_|_

excluding telomeric fraction
R 2= 0.007
p—-value = 0.6240262014
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TE density
Male Chr4 removing 30 % of total length VALUES TE density
_|_
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.06 R2= 0.581

p—-value = 0.1228003586

p—-value = 6.1108e-06
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Male Chr5 removing 30 % of total length VALUES TE density
_|_

whole chromosome
R2= 0.02
p-value = 0.2007232358

excluding telomeric fraction
R2= 0.034
p—-value = 0.186933519
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Female Chr 1

removing 30 % of total length VALUES TE density

whole chromosome

R2= 0.143
p—-value =£.0002319601

4

excluding telomeric fraction
R2= 0.071
p—-value = 0.0433820941
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Female Chr2 removing 30 % of total length VALUES TE density
_|_
—— whole chromosome  ----- excluding telomeric fraction
—- R2z=0.347 R2=0.223
p-value = 1.152e-06 p-value = 0.0027394184 +

Female Chr 3

0.3
TE density
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removing 30 % of total length VALUES TE density

whole chromosome
R2= 0.195
p-value = 0.0002305105

excluding telomeric fraction
R 2= 0.098
p—-value = 0.0521958332
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Female Chr4 removing 30 % of total length VALUES TE density
_| + n
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.195 R 2= 0.382

p-value = 0.0038147553

_|_

p—value = 0.0007734979
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Female Chr5 removing 30 % of total length VALUES TE density
4 4
— #hole chromosome  ----- excluding telomeric fraction
R2= 0.102 <+ + R2= 0.02

p-value = 0.0032618878

p-value = 0.3069272255
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Male Chr1

removing 50 % of total length VALUES TE density

+

whole chromosome
R2=10.018

p-value = 0.2027857728
+  + +

excluding telomeric fraction
R 2= 0.009
p—-value = 0.578561545

p-value = 09297853064
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Male Chr2 removing 50 % of total length VALUES TE density
B +
—— whole chromosome  ----- excluding telomeric fraction
R2=0 R2= 0.273

p-value = 0.0021733189

whole chromosome
R 2= 0.006
p-value = 0.5660849134
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Male Chr 3 removing 50 % of total length VALUES TE density
_|_

R2=20
p-value = 0.9928112179

excluding telomeric fraction
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Male Chr4 removing 50 % of total length VALUES TE density
_|_
— whole chromosome  ----- excluding telomeric fraction
R2= 0.06 R2= 0.529

p—-value = 0.1228003586

p-value = 0.0001851677
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Male Chr5 removing 50 % of total length VALUES TE density
_|_

whole chromosome
R2= 0.02
p-value = 0.2007232358

excluding telomeric fraction
R 2= 0.027
p—-value = 0.3436490203
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Female Chr 1

removing 50 % of total length VALUES TE density

whole chromosome

| R2=0.143
p-value = 0.0002319601

4

excluding telomeric fraction
R 2= 0.069
p-value = 0.1108541978
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Female Chr2 removing 50 % of total length VALUES TE density
_|_
—— whole chromosome  ----- excluding telomeric fraction
—- R2z=0.347 R2=0.165
p-value = 1.152e-06 p-value = 0.0210739588 +

Female Chr 3

0.3 0.4 0.5 0.6
TE density

removing 50 % of total length VALUES TE density

whole chromosome
R2= 0.195
- p—value = 0.0002305105

excluding telomeric fraction
R 2= 0.051
p-value = 0.2773242423
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Female Chr4 removing 50 % of total length VALUES TE density
_| + n
—— whole chromosome  ----- excluding telomeric fraction
R2= 0.195 R2= 0.285

—{ p-value = 0.0038147553 p-value = 0.0127410263
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Female Chr5 removing 50 % of total length VALUES TE density
— +whole chromosome  ----- excluding telomeric fraction
R2= 0.102 <+ + R2= 0.011

p-value = 0.0032618878

p-value = 0.5463250911
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